Appeal No. 6

France v England

Appeals Committee:

Steen Møller (Chairman, Denmark), David Birman (Israel), Naki Bruni (Italy)

Herman De Wael (Belgium) assisted in part of the hearing and acted as Scribe.
Open Pairs Semi-Final “B” 3rd session 

Board 3. Dealer South. East/West Vulnerable.
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3}
All Pass

Contract: Three Clubs, played by East

Result: 5 tricks, NS +400

The Facts: 

The Double had been explained by West to South as “normal”, but East told North it showed 5 of a Minor, 4 of a Major, 8+HCP. North now intended her Pass to show “nothing specific”, whereas South interpreted it as “weak or strong”. Two clubs was “pass or correct”.

North stated that she was now afraid of a distributional hand but that with the correct information she would have doubled Three Clubs.

The Director: 

Ruled that there had been misinformation from East to North and that North-South had suffered damage from this.

Ruling: 

Score adjusted to Three Clubs Doubled, four down, NS +1100

Relevant Laws: 

Law 75A, 40C, 12C2

East/West appealed.

Present: All players

The Players: 

North said that she had no conventional bids against a “Take-out Double” of 1NT, and that she did not know the meaning of Redouble; but she admitted that redoubling logically would have shown strength. She passed because she knew that she would get another opportunity to bid.

The Committee: 

Agreed with the Director in deciding that North had been misinformed. North showed poor judgment however, in not Redoubling at her first turn, and not Doubling at her second. It was felt quite possible that North would have made the same mistakes with the correct information, and so the Committee decided to weight the scores.

The Committee’s decision:

Score adjusted to 

Both sides receive:

50% of 3}X-4 by East (NS +1100) plus

50% of 3}-4 by East (NS +400)

Relevant Laws: 

Law 75A, 40C, 12C3

Deposit: Returned

Committee’s Note:

The score for +1100 was 150.95 MP, out of a top of 154. +400 would have scored 73.92, and so the result for this table was 50%x150.95 + 50%x73.92 = 112.34 MP to NS (72.9%), and 41.66 MP to EW.

